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This document supports encoding new characters, but it is deemed necessary to discuss mapping
issue for other related characters.
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Yanggin score symbols was derived from Suzhou Numeral, so the default style should follow
Suzhou Numeral.
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The symbols (ITVY4T) (12 P4 4T) was derived from the cursive script of U, so * would be more
accurate than X which were used in the printed copies.
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The glyphs of (il —4T) (M=3T) (18 —47T) (12 =37) share the same shaping standard, while (12—
F1)(18 = 4T) use align vertical lines but (JIil —#7) ()il =47) which follow U+3022 U+3023 are
misaligned. That will result in inconsistent glyphs in the same score system.
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Due to the fact that Suzhou Numeral and Counting Rod Numeral have the same origin, and the
vertical two and three of Counting Rod Numeral are more in line with the shape of (18 —¥7T) (12
=37), it is also possible to use U+1D36A and U+1D36B to refer to (& —T) (12 =7T), and add a
new one for L(12—37).



UCs1 UCS2 Definition | Duration HT1977 CD1957
U+3021 | U+1D369 | JE—+T 1/4 beat > O (I
U+3022 1| U+1D36A |l JIE—4T 1/2 beat g | @
u+3023 Il u+1D36B I IE=4T 3/4 beat MO =
U+3024 X U+3024 X JEPY T 1 beat A o X O
U+3026 — | U+? LT (U+1D36E) 18 —47 1/2 beat A0 1 &
*U+16FF4 1L | U+16FF4 T (U+1D36F) | 18 4T 1 beat 1O I m
*U+16FF5 1L | U+16FF5 T (U+1D370) | 18 =47 3/2beats | L O Il =
*U+16FF6 X | U+16FF6 X 1PU4T | 2 beats Ao X0
U+4E00 — U+4E00 — T unfixed - — Od
u+3007 O u+3007 O AT unfixed 0 m O o




